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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / Wﬂ?ﬁﬁﬁiﬁ PR ¥ faQvar Fafaf@a d @ Eﬁ E:I?ﬁh_{ Ay ot %
1. Distractibility / fSegfrafords

2. Hyperactivity / 3ifaafsadr

3. Hallucinations / #Afcss

4, Impulsivity / SFIeHTIET

Correct Answer :-

« Hallucinations / AT

2) Teachers must constantly deal with changing standards and in teaching profession. / fT&TsY &Y, Rr&ToT sgaama &
TAMAR dgad AR AT F "1y AT FAT AR

1. SyIIabus/W—ﬁaTUT

2. Curriculum / IT&T=raT

3. Assessment / 37TehcteT

4, Exam system / GI&TT JOTTeIT

Correct Answer :-

e Curriculum /Wﬂ'ﬂ‘f

3) Piaget believed that language develops in a child as a result of: / TAITS T ATHAAT o7 foF o= & o7 1 far, AT & IRomAEaET g T e
1. Cognitive development / HATcHS TAhr T

2. Egocentric development / AT gd A

3. Behavioural development/mm

4, Environmental development /9aTaRola fderreg

Correct Answer :-

« Cognitive development / HATcHS TAhr

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well in her academics. Which of the teaching method will
give more productive results for Mary? / ﬁﬁﬁaﬁ?ﬁﬁf%l T U HATURT SAATCIH AT § AfheT I R8T F Ferworate 3ich ¢l arelt &1 &
F fore sl i fRravor fafer srfdres amerve giefiz

1. Excursions /3T AT 3THIG

2. Brainstorming methods / e fafer

3. Grade acceleration /@l’s’ﬂjﬁ

4, Individualized instructions/amﬁm

Correct Answer :-

« Excursions /¥#HUT IT 3TAIG

5) The occurrence of is an indication of stagnation in the learning process. / N gea, A0 Fr gfkar F FRar « 1
w&a Bl
1. Motivation / 37f&9oT



2. Plateau / FE2RT& (Tele)
3. Progression / 9aTfal
4. Curve /dsh (ﬁ)

Correct Answer :-

« Plateau / 2R (Telel)

6) What is the main objective of teaching in inclusive classrooms? / gaAaed Famat A qgT= FHT qEeq 3@?# 47 B2
1. Preparing students for job/ TTAT @l AR F T IR @

2. Preparing students to pass the examination / STAT &l TI&T I el & oIl JIR =T

3. Developing thinking power of students / STAT T RIdeT AfFT &1 faepra LT

4. Providing notes to students / SEr & c_-ﬂw Hclel hiadl

Correct Answer :-

« Developing thinking power of students / BTAT I ide AfFa a1 TAdRT HET

7) Development does not include changes that happen due to: / e & 3 WRada afFafaa ad @ o @ & FRoT @ &
1. Tllness / SYART

2. Learning / 3T

3. Maturation / IRYgFaar

4. Aging / geTar

Correct Answer :-

o Tllness / SARY

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is / “FaRIdT FATH e 3T weE (3 a¥fE AF Uz
313¢) & URFHA & AN WOT # W@ 9¢F ¢ -

1. Primary caregiver / YRR TgTash
2. Family / 9R@R

3. Parents / ATAT-faar

4. Teachers and peers / fra7eh 3R @melr
Correct Answer :-

« Parents / ATAT-TAaT

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not receive his pocket money for a week. What type of
parenting is this? / STq TF qodT Felgld 1Sl ¢, A7 30& ATG-Rar A § & 98 7o o1 3K 3@ qa § &F & gra & v 3@
Se@d AE A I8 R YER FT qre=-9Nor §2

1. Behaviourist / STIERATY
2. Authoritarian / FATATET
3. Authoritative / 3TTAHIRG
4. Permissive / Hﬂmﬁ

Correct Answer :-

« Authoritative / T8RS

10) Children with Autism are: / Taellerdl (3ifesa) & AfFT =2 aa &

1. Unable to make eye contact with others. /Q\?R' & Y H@ q U i F 3gHT
2. Unable to move about comfortably. / 3R I Elc?:lﬁ H Ay

3. Unable to fall asleep. /g O F A



4, Unable to follow instructions. / &Y &7 gTeT IR F IFHT

Correct Answer :-

« Unable to make eye contact with others. /q:ﬂl. F YT G F TS AT H @AY

11) During stage of cognitive development, children acquire knowledge through manipulating objects. / HAAIcCH® fahra & HqEdr
& NI, T aEgat # I & AW 9T I 8

1. formal operational stage/ 3itaeTRer TfshaTcas 3raear
2. sensorimotor stage / FHLHIET a€AT
3. concrete operational stage / 1%? TfrareTs gt

4. preoperational stage / qﬁﬂw SART

Correct Answer :-

- sensorimotor stage / HAIACT IaEAT

12) Classical gestalt theory was put forth by: / FATRIS ITeTeT ﬁz}rﬁr ooy AT TEgd forar I A
1. Thorndike / mﬁ@@

2. Kohler / lgeR

3. Piaget/ TS

4, Pavlov / draela

Correct Answer :-

13) One way of minimizing the effects of diversity is to allow the children to: / RTIUaT & worma F Fo7 F F1 TF aliFT qeai i ey A gt
& &

1. Win over each other/ UEF-QZ\‘TT R ST gfle &t &

2. Operate in separate groups/ 3TeTdT-3TeldT Hﬂ@ H PIHA A T

3. Start small communities of their own/39sT TTF & BIC Q:Hiﬂ'l'q)f Eal Uqx FeT T
4. Socialize with each other/ UH?-E,:\'TQ' & FIU Aclolldl Toi=d dhr

Correct Answer :-

o Socialize with each other/ W—{H’l’ & I Aclollel Ty v

14) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a stimulus becomes a conditioned response to another
associated stimulus. Which one of the following examples satisfies that theory?/ §aTel qraeld & Fef@sd Haerfr & AR & TR, T AT &
T v fady yrpfas gfafer quy degy saeen & T o werd gfafear @ arch &) Peafaf@a & & Fta ar seeor 37 Rgwia #t @@
YT ¥

1. Children responding to the bell at school to indicate recess and associating it to happiness./ﬁ?{q'lm H LY Tl T I ITHIA B Tohd THST & 3R
30 el & @y Sisd £

2. Children maintaining silence when the teacher raises her hand/ S fI8Teh g1 3&TT § o s=d ?:[‘Iﬁ FAT @A £

3. Children expecting to receive medals by the end of a race/ &3 & 3 deh Ugeh UIed ol $I 3FHIG I arel I |

4, Children getting star stickers for the right answers asked in class./ & & q‘\ﬁ T TE IWT & T TR Reaw ued F arel s |
Correct Answer :-

« Children responding to the bell at school to indicate recess and associating it to happiness./ ﬁma?:r H °E Tl T FTd IR HT Hohd THIS & 3R
30 @t & @y Sisd gl

15) According to Cognitivism, learning is defined as a change in the learners’ .| ATATCHSATE F FTER, e Ft Ramdf & k)
FgaE & ¥ # aRenfya fFar s §)

1. Behaviour / egdg}

2. Schemata/ FASH (THIATET)
3. Mindset / AT &R

4. Morals / A&



Correct Answer :-

« Schemata/ AT (FHIATE)

16) According to Bingham, what does an aptitude test disclose? / aw & AR, m qdETor ¥ AT 9T Tl §?

1. The tendencies and capacities inherent in the individual's original constitution./ SATFT & Hel FaAT # fafga atdHaw IR m
2. The achievement in different dispositions./ ICIEEC) H?_j’anQj?F eI #F 3o

3. The readiness to acquire proficiency and exercise ability./ TaTOTAT 3R I R BT IR

4. The strength of the different dispositions./ faf&esT Hﬂﬁﬂ? Qagar f aed

Correct Answer :-
« The readiness to acquire proficiency and exercise ability./ TdTOTAT 3R 3T R B el

17) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle is evident here? / T §T3 &I Hla ¥ 3% R@mm
AT ATl 3, 9§ | WAl F @1 ¥1 T Fl @1 AR gy Fave §?

1. Reinforcement / C_F—Fs‘l?lﬂ'

2. Spontaneous recovery / Tdd: EI’HTI?I?-‘FT

3. Stimulus generalization / 3GGI9 AHTATHIOT
4. Stimulus discrimination / 3ggrae fa#gETOT
Correct Answer :-

« Stimulus generalization / 3¢gI9e HTATIHIOT

18) Carl Jung’s approach for a personality assessment is:/ Saf&ded Hidhee & AT FI IT FT TfoeHT §:
1. Judging / fovoTfy

2. Perception / TAGsT

3. Structured / TR

4. Projective / gaTa

Correct Answer :-

* Projective / gardRr

19) Which of the following is the term used to denote inborn patterns of behavior that are biologically determined? / Sifd® ¥ ¥ fAuia suger &
FeAd Yeat #1 i & v Peafaf@a & & 59 asg 71 3990 fFar siar 82

1. Arousal / ST (TI3STeT)

2. Drives / 3iedile (318H)

3. Instincts / W (3Rcae)
4, Incentives / TollH (Sifeed)

Correct Answer :-

« Instincts / W (3Recae)

20) Which of the following is not a part of the process of memory? / fAF=ifaf@a A A FlT ar ﬂﬁf # 9fshar &1 w8 2
1. Storing information / STTASRRT TG FLAT

2. Encoding information / STTeTehIRT &I Hehclleh<OT STl

3. Acting on information / I I FT HAT

4, Retrieving information / STFHRT U HAT

Correct Answer :-

¢ Acting on information / ¥l T FIF AT



21) What substage of cognitive development is apparent when a baby learns to press the ‘play’ button on the iPad in order to play his favourite nursery

rhyme? / HAETCAF e N FiT @ 39-3r9cyT Tose A §, 59 v Tea1 AT qHdET A48 AT @ F QAT 3z w o
9T gaTaT WEar 7

1. Coordination of secondary schemes / ATETAF AISTATIT HT THeAT

2. Primary circular reactions / grafas ESIEARS giafsrare

3. Secondary circular reactions / AreafAs ERLEZRS gfafame

4. Tertiary circular reactions / FF?ITIEF ERICARS gfafsare

Correct Answer :-

« Coordination of secondary schemes / ATIAF TS FT THTT

22) What age is a child the most impressionable? / fF& 3T HT TAT X SIET gH@AT g 87
1. 14 to 18 years / 149 183§

2.2to8years /23 8T%

3.9to 12 years /9 ¥ 12 ¥

4.6to 14years/6@'14aﬁ'

Correct Answer :-

« 6to 14years/6ﬁ14a'ﬁ'

23) CCEis undertaken ./ _ 37 fvam anar §)
1. Four times a year / Teh d¥ & IR R

2. Throughout the year /9§ 8% &

3. Periodically / §HAI-HHAT WX

4, Twice a year /U d¥ & @ aR

Correct Answer :-

« Throughout the year / ¥ #X &

24) Questioning in the classroom : / H&T H YA FIAT:
1. Develops inactivity / fATShTAT Aepfad HXT Bl

2. Clarifies subject matter / TS ard FI TIC AT g
3. Creates indiscipline / WWF@HHT Yer ar %|

4. Is a waste of time / THI HT qET &

Correct Answer :-

o Clarifies subject matter / ICAR) ER—T;T FT TAST AT %’I
25) Needs which grow stronger when unsatisfied are called: / 313@‘3 A W Halqd gl arelt aRgHaN [Ae Fgdrdl a’
1. Deficiency needs / HHT &

2. Primary needs / MTIH® ST&

3. Growth needs / E!'Eﬁ TR

4. Being needs / 3TaTH T

Correct Answer :-

« Deficiency needs / FHT Tl

26) Who proposed the theory of observational learning? / Q&I AT HT m}l’lﬂ' e & frar?
1. Ivan Paviov / 3T UTaeid

2. B.F. Skinner / &1.U%. TEhe¥



3. Aaron Beck / 3TRIT s
4. Albert Bandura / EIE\TT
Correct Answer :-

e Albert Bandura / agg:r

27) A scoring guide use to evaluate the quality of students is called: / BTl HY JOTEAT FT HeATFal A & AT FEAATA H
JA arell Th FTHINGT 88 AT Fgara &

1. Checklist / Tehferee
2. Rubrics / wfsera
3. Rating scales / If¢eT Toheqw

4. Inventories / sadfeq
Correct Answer :-

. Inventories / sadfeq

28) Both pleasant and unpleasant feelings are associated with ./ g’@?i!ﬁ? IR At g F g gl
1. Double approach — avoidance conflict / a'j% zfSeahIvT - uREgR Taw

2. Avoidance - avoidance conflict / IRER - IRER Ia§

3. Approach — approach conflict / TTScehIoT - TfSeaRI0T TET

4. Approach — avoidance conflict / ¥ fSehIvT - IRER TET

Correct Answer :-

. Approach — avoidance conflict / TTSCehI0T - IRER oY
29) Authentic Assessment is a form of assessment in which: / YIS Sfipa 3fipad BT Th =7 % o

1. Students are asked to perform real-world tasks that demonstrate meaningful application of essential knowledge and skills. / & el aﬁa‘lﬁﬁ%%ﬁ'ﬂ
& 1l T et o o7 gl ST B, ST T2 AT 3R shierel & AT HeToaTeT &l TefRid hic &

2. Students results are compared to hypothetical average student / STl *mﬁwmmm@ﬁm%

3. Student performance is measured against a fixed set of predetermined criteria or learning standards / 813 F Ue=H Bl Uﬁ fufia amdst o dem &
D! & T Ffd Y & faukia omar s &

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to instruction /fa\raﬁa 37 fr safFgera ?Iﬁa?ff,
FHMNGT, AT 3R RI&T ol Fierer F g AUIRT AT E

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful application of essential knowledge and skills. / & el a#amﬁa?gﬁm
& 1T T et o T heT ST &, ST 3Taegeh AT 3R hirer & Areieh Heor2ilaT ol v e ad §

30) Which of the following factors influences a child's success and failure in school performance / ﬁgﬁ@a A ¥ SH-91 PRSP e & WSZT-'-I ]
TR B AGHAar 3R SFGEAT B U BT 82

1. Parental education background / rar-faar & fRren ot qgi-ﬁf

2. Physical strength of child / T @) IRING W

3. Teachers contribution in learning process/m ufsrar 7 et &1 JRTE
4. Social Influence on child's learning / TR E ATH R GG gHE

Correct Answer :-

« Teachers contribution in learning process/m ufshar &7 et F1 IR

Topic:- General English(L1GE)



1) Fillin the blanks with the correct option in the given sentence:
Most plant species are not adapt -- to a desert environ--.

1. --ive ... -ment

2. -- able ... -- mental

3. -- able ... --ment

4, --ion ... mentally

Correct Answer :-

e --able...--ment

2) Fillin the blank with the correct option in the given sentence:

A person of little or no importance is a --entity.
1. non--

2. trans --

3. uni--

4. dis --

Correct Answer :-

3) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water, fleas are ideally equipped to do what they do,
making them very difficult to defeat. A flea has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are almost
impossible to squish. These are also waterproof and shock resistant, and therefore fleas are highly resistant to the sprays and chemicals used to kill
them. Little spines are attached to this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of food. However, if
anything tries to pull a flea off through the hair coat, these spines will extend and stick to the fur like Velcro. Fleas are some of the best jumpers in
the natural world. A flea can jump seven inches, either vertically or horizontally. They have very long rear legs with huge thigh muscles and multiple
joints. When they get ready to jump, they fold their long legs up and crouch like a runner on a starting block. Several of their joints contain a protein,
which helps catapult fleas into the air as they jump. The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2
days. These eggs can be seen with the naked eye. Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath,
and these three factors stimulate them to emerge as new adults.

What helps fleas to jump very high?

1. They are naturally born high jumpers and take off like a plane.

2. They are not insects that jump very high but rather move very fast.

3. They have short front legs and very long rear legs and get ready to jump.

4. Their rear legs have huge thigh muscles and their joints have a protein that helps.

Correct Answer :-

 Their rear legs have huge thigh muscles and their joints have a protein that helps.

4) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water, fleas are ideally equipped to do what they do,
making them very difficult to defeat. A flea has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are almost
impossible to squish. These are also waterproof and shock resistant, and therefore fleas are highly resistant to the sprays and chemicals used to kill
them. Little spines are attached to this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of food. However, if
anything tries to pull a flea off through the hair coat, these spines will extend and stick to the fur like Velcro. Fleas are some of the best jumpers in
the natural world. A flea can jump seven inches, either vertically or horizontally. They have very long rear legs with huge thigh muscles and multiple
joints. When they get ready to jump, they fold their long legs up and crouch like a runner on a starting block. Several of their joints contain a protein,
which helps catapult fleas into the air as they jump. The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2
days. These eggs can be seen with the naked eye. Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath,
and these three factors stimulate them to emerge as new adulits.

How is it impossible for anyone to detach themselves from fleas?
1. Fleas attach themselves to the skin of the animal.

2. Fleas have little spines that stick into animal fur like Velcro.



3. Fleas can jump very high and land on the same animal.

4. These insects are very clever and have a thinking mind.

Correct Answer :-

» Fleas have little spines that stick into animal fur like Velcro.

5) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water, fleas are ideally equipped to do what they do,
making them very difficult to defeat. A flea has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are almost
impossible to squish. These are also waterproof and shock resistant, and therefore fleas are highly resistant to the sprays and chemicals used to kill
them. Little spines are attached to this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of food. However, if
anything tries to pull a flea off through the hair coat, these spines will extend and stick to the fur like Velcro. Fleas are some of the best jumpers in
the natural world. A flea can jump seven inches, either vertically or horizontally. They have very long rear legs with huge thigh muscles and multiple
joints. When they get ready to jump, they fold their long legs up and crouch like a runner on a starting block. Several of their joints contain a protein,
which helps catapult fleas into the air as they jump. The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2
days. These eggs can be seen with the naked eye. Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath,
and these three factors stimulate them to emerge as new adults.

What helps fleas to emerge quickly as adults from being cocoons?

1. The eggs are large enough and can be seen without the help of a microscope.

2. They hatch immediately and transform themselves into cocoons.

3. They are warm inside their cocoon and can emerge as full adults after only a day.

4. They can identify warmth, movement and carbon dioxide in exhaled breath.

Correct Answer :-
e They can identify warmth, movement and carbon dioxide in exhaled breath.
6) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water, fleas are ideally equipped to do what they do,
making them very difficult to defeat. A flea has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are almost
impossible to squish. These are also waterproof and shock resistant, and therefore fleas are highly resistant to the sprays and chemicals used to kill
them. Little spines are attached to this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of food. However, if
anything tries to pull a flea off through the hair coat, these spines will extend and stick to the fur like Velcro. Fleas are some of the best jumpers in
the natural world. A flea can jump seven inches, either vertically or horizontally. They have very long rear legs with huge thigh muscles and multiple
joints. When they get ready to jump, they fold their long legs up and crouch like a runner on a starting block. Several of their joints contain a protein,
which helps catapult fleas into the air as they jump. The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2
days. These eggs can be seen with the naked eye. Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath,
and these three factors stimulate them to emerge as new adults.

Why are fleas considered impossible to defeat?

1. They can jump very high.

2. They run at an enormous speed.

3. They are well outfitted to feast on any animal blood.

4. They are too tiny to catch.

Correct Answer :-
» They are well outfitted to feast on any animal blood.

7) Read the sentence carefully and choose the option that has an error in it:

Which was the best of the two books?
1. best

2. Which was

3. the

4. of the two books?

Correct Answer :-

* best



8) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living there and decided to stay on. But there wasn’t a whole lot to go on
because the train service had not yet started as the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message across to a distant
place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around 2000 miles. Most people would be able to travel that distance in
about 30 days....the Pony Express did it in 10 days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He would only
take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was tough to ride the Pony Express. For the men who rode the horses, weight
mattered. Therefore, most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and dangerous as the native
Americans attacked them continuously. The Pony Express was able to fulfill an imperative need at that time.

Why do you think the rider of the Pony Express had to change horses every 10 miles?
1. The rider would get tired of riding the same horse.

2. The rider had to reach the home station quickly.

3. The horse was ridden fast and would get tired.

4. He had to take his mail pouch with him on the horse.

Correct Answer :-
o The horse was ridden fast and would get tired.
9) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living there and decided to stay on. But there wasn’t a whole lot to go on
because the train service had not yet started as the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message across to a distant
place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around 2000 miles. Most people would be able to travel that distance in
about 30 days....the Pony Express did it in 10 days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He would only
take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was tough to ride the Pony Express. For the men who rode the horses, weight
mattered. Therefore, most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and dangerous as the native
Americans attacked them continuously. The Pony Express was able to fulfill an imperative need at that time.

Why did people rush to California in the 1860s?

1. Gold was found in the state and everyone wanted some.
2. The Pony Express was founded in the state.

3. It opened the way for new communications.

4. It was a place for new settlements.

Correct Answer :-
» Gold was found in the state and everyone wanted some.
10) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living there and decided to stay on. But there wasn’t a whole lot to go on
because the train service had not yet started as the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message across to a distant
place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around 2000 miles. Most people would be able to travel that distance in
about 30 days....the Pony Express did it in 10 days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He would only
take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was tough to ride the Pony Express. For the men who rode the horses, weight
mattered. Therefore, most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and dangerous as the native
Americans attacked them continuously. The Pony Express was able to fulfill an imperative need at that time.

Why did the Pony Express begin?

1. Ponies were the fastest means of transport.

2. America had a lot of ponies and made good use of it.

3. There was no telephone or trains and no means to get or send news.

4. There were many wild horses roaming the countryside.

Correct Answer :-

» There was no telephone or trains and no means to get or send news.



11) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living there and decided to stay on. But there wasn’t a whole lot to go on

because the train service had not yet started as the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message across to a distant
place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around 2000 miles. Most people would be able to travel that distance in
about 30 days....the Pony Express did it in 10 days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He would only
take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was tough to ride the Pony Express. For the men who rode the horses, weight

mattered. Therefore, most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and dangerous as the native
Americans attacked them continuously. The Pony Express was able to fulfill an imperative need at that time.

Give a synonym of ‘imperative’.
1. Trifling

2. Trivial

3. Crucial

4. Inconsequential

Correct Answer :-

e Crucial

12) Choose the appropriate tense to fill in the blank in the given sentence:

| the book that you lent me. I have got another 80 pages to read.
1. have been reading

2. has been reading

3. had been reading

4, am reading

Correct Answer :-
« have been reading

13) Fillin with correct determiner in the given sentence:

My brother does not drink coffee.
1. few

2. alot

3. much

4. many

Correct Answer :-
e much

14) Rewrite the following changing the active sentence to passive.

Seema informed me about her late arrival.

1. I has been informed by Seema about her late arrival.
2. I was informed by Seema about her late arrival.

3. Iinformed Seema about her late arrival.

4. About her late arrival, I have been informed.

Correct Answer :-

« I was informed by Seema about her late arrival.

15) Choose the right tag:



Add some more milk to your cereals, ?
1. would you

2. wouldn’t you

3. don’t you

4, do you

Correct Answer :-
* would you

16) Choose the right tag:

He is coming here today, ?
1. isn't he

2.is he

3. has he

4. doesn't he
Correct Answer :-

e isn't he

17) Choose the appropriate prepositions for the given sentence:

A waterfall is a stream ______ water that drops straight a high point.
1.in ... out of

2. of ... down from

3. of ... through from

4, for ... out from

Correct Answer :-
e of ... down from

18) Choose the appropriate antonym for the highlighted word in the given sentence.

There is a shortage of books at our library.
1. surfeit

2. paucity

3. opulent

4. undersupply

Correct Answer :-

« surfeit

19) Choose the appropriate conjunction for the given sentence.

Upendrais taller______ Arun.
1. that

2. till

3. though

4, than

Correct Answer :-

 than



20) Choose the appropriate option that rewrites the given sentence in its passive voice.

Anil bagged the best conduct award.

1. The best conduct award is bagged by Anil.

2. The best conduct award was bagged by Anil.

3. The best conduct award has been bagged by Anil.

4, Best conduct award was being bagged by Anil.

Correct Answer :-
» The best conduct award was bagged by Anil.

21) Choose the appropriate option that rewrites the given sentence in indirect speech.

Khushi says to Swati, “When are you going to Kanpur?”
1. Khushi asks Swati when she is going to Kanpur.

2. Khushi asked Swati when she was going to Kanpur.

3. Khushi asked Swati about going to Kanpur.

4. Khushi questioned Swati about Kanpur.

Correct Answer :-

« Khushi asks Swati when she is going to Kanpur.

22) Choose the appropriate tense to fill in the blank in the given sentence:

Yesterday whileI __ inclassI_______ the hiccups. My friendtold me ________ my breath.
1. sat, got, to hold

2. was sitting , had got , to hold

3. was sitting, got, to hold

4. am sitting, got, hold

Correct Answer :-

« was sitting, got, to hold

23) Choose the appropriate synonym for the highlighted word in the given sentence.
It is important for a driver to have a valid Driver’s License.

1. significant

2. creamy

3. trifle

4. consider

Correct Answer :-
» significant

24) Choose appropriate articles for the given sentence:

Experts believe that by _____ twenty-first century _____ earth’s supplies of gas and oil will be largely gone.
1. no article required ... no article required

2. No article required ... an

3. the ... no article required

4. the ... the



Correct Answer :-
e the ... the

25) Choose appropriate article for the given sentence:

______Bibleis a holy book, which teaches us the way to live a good life.
1. The

2. No article

3. An

4. A

Correct Answer :-
o The

26) Choose an appropriate modal for the given sentence:

Harini is late. She have forgotten her way back to the new hostel!
1. should
2. can

3. shall

4. must

Correct Answer :-

27) Choose the most suitable pronoun for the given sentence:

A big pendulum clock! is what I want.
1. Those

2. This

3. Their

4. These

Correct Answer :-
e This

28) Choose the option that substitutes the given phrase appropriately.

The fear or hatred of books
1. Bibliophobia

2. Bibliophile

3. Bibliomania

4. Bibliography

Correct Answer :-
 Bibliophobia

29) Choose the option that best explains the highlighted expression:

She would go to the ends of the earth to save children.

1. to fuss around



2. walk with her children
3. to do everything possible

4. doing nothing possible

Correct Answer :-
« to do everything possible

30) Which of the following options best combines the given sentences?

Three people were injured in the blast. It took place yesterday.
1. The blast, yesterday, three people were injured in the blast.

2. Three people yesterday were injured in the blast.

3. Yesterday, three people were injurious in the blast.

4. Three people were injured in the blast that took place yesterday.

Correct Answer :-

» Three people were injured in the blast that took place yesterday.

Topic:- General Sanskrit(L2GS)
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Topic:- Science (SCI)

1)

Find %, v and z representing the number of moles of the reactants and products in the skeletal
equation given below: /
A fow AT ureq ATF wHiEoT #F dEERET 3R 3cuel & AU f §edr &

ufafafece st anr x, v3iR 239 &
Fe:03 + xCO =2 yFe +zCO

L.x=1,y=2&z=1
2.x=3,y=2 & z=3
3.x=2,y=3,& z=2

4.x=4,y=3 & z=4



Correct Answer :-

2) Thick layer of fat called blubber is found in: /
s ATHE I8 Y AN T g g A @
1. Whale / &gof

2. Polar bear / %fcﬂ?:r HTe

3. Camel /3¢

4. Shark / =&

Correct Answer :-

« Whale/ &gel

3) What happens when a sound wave is propagated through a medium? /

Ify cafr G o AreAw ¥ gwiia @, & =2 @ &2

1. The particles of the medium move perpendicular to the direction of propagation of the wave./
ATEIA F FUT, a1 & TR H A & daad T=ana g

2. The particles of the medium remain in the state of rest./
HTEIH & HUT Ay # ©d 8

3. The particles of the medium make to and fro motion about their mean position./
HIEIH & HUT, 31 ALY AT & AT seR3ER- arfaehe g1 &1

4. The particles of the medium are also propagated. /
e F Ho1 off 7§ B

Correct Answer :-

« The particles of the medium make to and fro motion about their mean position./

HTETH & HUT, 31T AeT AT & THT SERFER- arfaeher gl &1

4) What are the common fishes selected for pond culture systems? /

arere watde yonfaal & v gafag f 9§ aEew Asfaat s §2
1. Sharks and rays / Q& 3R ¥

2. Sardines and mackerals / @Tf8aT 3R Faer

3. Mullets, bhetki and pearl spots/Fq\ﬁ'c:F, Fehr 3R gor T@ie

4. Catlas, rohu, mrigals, common carps and grass carps / &hcell, flg’, FaTel, HIATT F7 3R IE FT

Correct Answer :-

« Catlas, rohu, mrigals, common carps and grass carps / shcell, flg FHaTel, ATHY FI IR IE FT

5) The phenomenon responsible for the twinkling of star is: /
art & fewfeaEe § v e vea §:

1. Dispersion and reflection / JIR 3R wradsT

2. Reflection / WRTdcIT

3. Atmospheric refraction / a@ﬂg@u 39T

4. Dispersion / TR

Correct Answer :-

« Atmospheric refraction / EI'I'{J)H?@'!T 3qgdsT



6) Which one of the following diseases is almost eradicated from our country? /
frafaf@a & @ fFe el #t gar o § TnEr @ F R T R
1. Dengue / %?I

2. Malaria / #FelRaT

3. Encephalitis /| ATEdSH T

4. Poliomyelitis / AYferaT

Correct Answer :-

« Poliomyelitis / 9iforat

7) The hotness of an object can be measured by its ./
et avg #r THTEe F IS EART ATIT AT FFHAT B
1. volume / 3Tt

2. Temperature / dT9HATT

3. Size / ATPR

4. Density / Yelcd

Correct Answer :-

o Temperature / dT9HTT

8) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /
wF Y3 & o F g vH g 81 Ao F @y w724 P

1.0.5s

2.2s

3.1s

4.0.1s

Correct Answer :-

9) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5 seconds. The acceleration produced in that body is:
/

10 5T geadATeT #1 v 9™, 10 Hi/AFs § & A d7 5 FFs § AT s &fda gdg F AR afaeha &1 39 @A
TA ST @ §:

1.0.5 m/s?
2.2 m/s?
3.0 m/s?
4.50 m/s?

Correct Answer :-

10) Complete the statement with the correct option given below:

Matter is anything that -
A R av Rwedt & @ 9@ Beer gaax Fua & QoF F:
verd I § S

1. occupies space and has a definite mass. /



T R § 3R S v ARad gegA g g
2. occupies space but has no definite mass. /

TUTT ORCT & fthel SHAN HIS AT gegaT gt ghem B
3. exists as a solid with a definite mass. /

o AREd geadA & WY U 3 F &9 A Algg g gl
4. has a definite mass and a definite shape. /

s ARTd geaAe vd vs AfREd 3R & g gl
Correct Answer :-

« occupies space and has a definite mass. /

T R & 3R o v ARud gegasT g g

11) Select the appropriate metal to be used to change the colour of an aqueous solution of CuSO,4 from blue to colourless along with a red

brown solid getting deposited. /

msoﬁ?@f&a’qﬁ,fa'a'#snsrajﬁ*dwmgm%wmammaﬂ:ﬁﬁhﬁmm%mmaﬁmﬁ
3UGFT U FT TIT F

1. Silver. / &
2. Gold. / |t
3. Mercury. / 9RT
4, Zinc. [ STEAT
Correct Answer :-

o Zinc. | ST&EAT

12) Sharp edged metal pin will go easily into the wooden board because: /

Ao UR areh urg A R AR ¥ aw F 0 A gw e i

1. As area of contact reduces force increases / TIh &7 HH gl A Fof Tl g

2. As area of contact reduces force decreases / TUdh &F T gl & &of & giar %I
3. As the area of contact reduces the pressure reduces / & ek Eﬁ I gE Y ﬁ?ﬂ %I
4. As the area of contact reduces the pressure increases / IS &7 HH 8 Y I dedl %I

Correct Answer :-

« As the area of contact reduces the pressure increases / U &8 HH B I T dJedl %I

13) A screw gauge with zero correction gives the following reading when used to measure the diameter of a wire. Pitch scale reading = 0 mm
and head scale reading = 52 divisions. Given that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire from
the above data is: /

T GUR & WY TF TF A1 0F aN & o0 $ AS F AT 390097 F 9 @ w® Pefaf@a 3w qar 1 R aww 8y =
0 st 3k &5 Aw ¥ = 52 @s| R T ¢ B AEw Aww w1 1 B, 5 A9E F 100 @I F 3AET §) IWFT I § aX
T AW ¢

1.0.0052 cm / 0.0052 T
2.0.052 cm / 0.052 §HT
3.026cm / 0.26 T
4.0.52cm / 0.52 @Y

Correct Answer :-

« 0.052cm / 0.052 ¥y

14) A dull green colour coating formed when a copper vessel is exposed to moist air for long. The green material is a mixture of: /



9 UF di9 FT U &9 AT d& 35 IAE0T H @aT §, O 30 W T g¥ W1 f R A A §1 I8 a7 gerd e acal &1 v
fArsror &

1. Cu(OH), and CuO / Cu(OH), Td CuO

2. Cu(OH), and CuCO5 / Cu(OH), T& CuCO;
3. Cu(OH), and Cu,O / Cu(OH), TF Cu,0

4, CuO and CuCO53 / CuO T CuCO;

Correct Answer :-

« Cu(OH), and CuCO3 / Cu(OH), Td CuCO,

15) Choose the incorrect property about colloids. /
FNAFS F HFRAT IJOTUH FT TIT F
1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /
FIOSSe & HUT dd deh 61 AT §, SId deh o Io¢ AT 6T B3 AT ATl g, AN Fromsse f&eret wrdr & g §1
2. Colloidal particles are not visible to the naked eye. /
PSS VT AT 3@ 1 @S 78 & &1
3. The size of colloidal particles lies in the range 10710 cm /
PSS FUN H ISR 107 —107° F&AY. F AAT 7 8T &
4. A colloidal solution is homogeneous in nature /
TF FIATSSH Ao YHA F FAT g B
Correct Answer :-

« A colloidal solution is homogeneous in nature /

T Hlssd Ao gHfa & Farrdr giar gl

16) Identify an isotope used as a tracer to detect the blood clot in human body /

A R H A F gFF T 901 a0 F QAT 06 TR & T & 977 @ a1 vF gAeyfas A ggaar w
1. Uranium - 235 / ZB‘%W - 235

2. Todine -131 / 3AET - 131

3. Sodium — 24 / |f3TH - 24

4. Cobalt — 60 / @aTee - 60

Correct Answer :-

« Sodium—24 / Bf3Te - 24

17) The product formed when iron reacts with steam is /
g 3R arsv FfAfF & 99 aren 3eE @

1. FeO

2. FeH

3. Fe0;

4, Fe304

Correct Answer :-

. Fe304

18) The role of decomposers in the ecosystem is /

TR @ F vues A sfFw g ¥



1. They do not act on organic compounds. / & Frafereh AR W FF g |

2. To convert inorganic materials into simple forms. / JEfAes geral i @er ®at F aRafda wer

3. To convert organic materials into inorganic forms. / Fefeieh Jereif A hdfas w9 & gRafda &
4. To convert inorganic materials into organic compounds. / JPTeeh Uerdf &Y Prafe e § yRkafdd Bl

Correct Answer :-

« To convert organic materials into inorganic forms. / FIforeh qerdf &l 3hEfs T F gRafdd &=

19) The lightning arrester helps: /

af¥a(arsem Qus fw & Aag Far ¥

1. To store the electric charges at the time of lightning /
afsd & HAY faegd At # FIEa w= Al

2. Dissipate the electric charges in to the atmosphere /
fega masit #1 argHse 7 oA Al

3. Avoid the production charges on the clouds /
qrer 7 AR & 3cueA ¥ U H |

4, To transfer the electric charges to the ground /
R 3t # 5 ¥ TR w0

Correct Answer :-

« To transfer the electric charges to the ground /

faege 3maeil &1 A F FAEERT e H|

20) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs for 10 hours per day in a month of 30 days? /
30 Rt & wF 7w # 9fd Rer 10 92 & fAw 5 ae & q@ edl F FAT ¥ freare gt F fraet Rega ot i gua & 2
1. 15 kWh

2. 150 kwh

3. 15000 kWh

4. 1500 kWh

Correct Answer :-

+ 15kWh

21) Calculate the formula unit mass of MgSO,4.7H,0
[Atomic masses: Mg =24 u,S=32u,0=16u, H=1u] /
MgSO0,.7H,0 & HF $HE GeIATT Y AVEAT F:
[ITAT] gedATT: Mg =24 u,S=32u,0=16u, H=1u]
1.286u

2.232u

3.246u

4.198 u

Correct Answer :-

« 246u

22) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic energy of the bullet is mainly converted in to /

TGF ¥ A g I W wF Auila awd & A W A g e 31 e fr afaer 39t geT w9 @ sud aRafda & o &



1. Only Heat energy / del FSAT Fail

2. Kinetic energy for the wooden board / eI&hsT F 95 & fov aifast Far
3. Only Sound energy / haeT &afar FalT

4. Sound and heat energy both / R 3R FHEAT Folf aIAT

Correct Answer :-

« Sound and heat energy both / R 3R AT FHolf AT

23) Ina sunny day, when the atmospheric temperature is 37°C, the temperature inside a car, which is parked on an open ground is: /

T 49 g R &, 99 argEse amgare 370 afPwaw @ar 8, @ vF R F WX F aHA, S g Aee F @9 g, e gem
1. Greater than or equal to 379C /379C & SR AT 3fAw

2. Equal t037°C / 37°C & SRI&%

3. Always greater than 370 /37°%C & 3f=w

4. Less than 370C / 370C ¥ &1

Correct Answer :-

« Always greater than 379 /37°%C & 3f8=w

24) In a filament bulb the electrical energy is converted into: /

F fhamic Tod (dq o) ¥ fagga sa1 # gwe aRafda B smar @
1. Chemical energy / JETATAS Foll

2. Only heat energy / Shael FSHAT Soil

3. Only light energy / Shaol YTl Foll

4. Light and heat energy both / J&IRT 31X FSHAT FaiT alAt

Correct Answer :-

« Light and heat energy both / STl 31X FSAT FaT &=l

25) What is the valency of Carbon in Methane? /
MdT & FET N FAoHar o &2

1. Valency of C=2 / C &I TATSTehdT = 2

2. Valency of C=1 / C &I T3ArTehl = 1

3. Valency of C=4 / C &I TIIThal = 4

4, Valency of C=3 / C &T Farsiehdl = 3

Correct Answer :-

« Valencyof C=4/ C T gASTHhar = 4

26) Which among the following is a mixed anhydride? /
famfaf@a & @ a1 s AT veEsEs ¥

1. CO,

2.N,0s

3.50,

4.NO,

Correct Answer :-

. NO,



27) Which of the following is not a control measure for the storage of grains? /
rfaf@d & @ 741 3=e HSRUT & fow @AEr surr A R

1. Chemical method / I fafer

2. Fumigation / U‘\?ﬁ'

3. Plant products like mineral oils / @il deT S UG 3cUTG

4. Cultural method / FI'R—?(_%EF afer

Correct Answer :-

« Cultural method / w@%m afer

28) Which of the following is a biotic component? /
ArfafRa & & sla-w & AT geF

L Air/drg

2. Water / STeT

3. Soil / fAEer

4. Living things / Sifad avqyq

Correct Answer :-

« Living things / Sifad awq@

29) Which of the following is a chemical effect of electric current: /
e & & 7= Rgga vaw 1 TEEfaE ge 8
1. Producing a magnet using electric current /

fdegd yaTg &1 3UGRT Hh Ueh Hefeh Scoel el

2. Producing heat in an electric kettle /

Teh Solfdgeh ohdell H FSAT 3cdeel el
3. Producing light using electric bulb /
fSSTell & dod &1 39T X TR 3cTeed HAT
4. Production of Hp and O, by passing current through water /

U & YRT YaTed B Hy 3R 0, BT IATG AT

Correct Answer :-
« Production of Hy and O, by passing current through water /

T & YRT YaTRd B3 Hy 3R 0, BT IdTe HRAT

30) Name the property of the components used for separating salt and camphor. /
aAF AR F B AT T F AT AT FF IR A weH F ot qasd|
1. Using separating funnel/w T FT I

2. Magnetic separation /i_l;aﬁ?:l' E‘T_WUT

3. Sedimentation / 3Ta&TGeT

4, Sublimation / FEqUTdeT

Correct Answer :-

« Sublimation / FEdUTdsT

31) Discoveries, inventions, laws, theories are all related to the ./ @Y, 3TTasahR, A4, ﬁﬁfﬂﬁ' Y
¥ "efa &



1. ease in daily living / ¢faieh Siiael & 3T

2. study of science / 3T &1 3reTTT

3. luxuries of life / SffaeT & q@aresT

4. satisfying human curiosity /Il'l:ﬁﬂq SR Eal Hﬂg HAT

Correct Answer :-

. study of science / TaTeT & 37EITA

32) Not only formative but also summative assessment can be conducted through: /

7 Faa AATNCAS, afew MRS e ot PET & Areaw @ Fifaa fRar S Awar &
1. Homework / W

2. Question and answer sessions / 92T 3 3T IF

3. Projects / TRITSTAT3T

4. Self-evaluation of teachers / fRI&TehT T W—H@W

Correct Answer :-

« Projects / IRATSAT3T

33) The drawback of Case Study method is that it does not lead to a: / FH-¥e2 Rfr #1 W ¢ & ¥E YeTeT

& FI B

1. Generalization / 9T hIOT
2. Conclusion / IGAC

3. Categorization / gaffenToT

4. Assimilation / TcHATINIOT

Correct Answer :-

. Generalization / THTEATRIOT

34) Which of the following is not a feature of Continuous and Comprehensive Evaluation (CCE)? / Frfaf@a & a sla
H waa va aw Ao (W) At e a@

1. Tt helps the teacher to learn about the existing concepts of students. / Jg ST &I 'Fl‘fG-j\?‘T AYRUMST & IR H SATeled &
fRI&Teh T HETIAT HT B

2. It involves more frequent tests and examinations. / 3T RIAR G{reTor 3R qee gfFafad giar g1
3. It involves repeated assessment of the same parameter. / SHH Ueh &I HAGIGUS &l SR-GX ieholel TAf&ATeId &IdT ¢l
4. Tt is a school-based evaluation. / Ig Ueh TaeATerT-3memid ﬂ@ﬁm gl

Correct Answer :-

. It involves more frequent tests and examinations. / 3?3# TIar adietor 3 gdene @fEAfaa gid %I

35) Which of the following is not a scientific question? / AFAfaf@a & ¥ Fia a1 & doAF gea A &2
1. What is the density of water? / 9Tl &l Helcd fohdall &7

2. Why can we not see in the dark? / §H I H F 8T 2@ I &7

3. What is meant by a secular republic? / W&‘f oA T T 31k %?

4. Why is the colour of sky blue? / 3TTTRT BT T e ot %?

Correct Answer :-



« What is meant by a secular republic? / ufrﬁ@&r 0TS T T 3 %?

36) A formal event where multiple experts deliver their speeches is known as ./ @& 3taafe gear Jer F5
v 3raer smmwor A § F H I ST R

1. Laboratory / THRTRITAT
2. Symposium / IS
3. Exposition / RG]l

4. Workshop / FRIATAT

Correct Answer :-

- Symposium / FINSST

37) What is the name of the satellite that was placed in the geostationary orbit specifically for increasing television-based education in

India? / 39 IUUE BT 9 T 8, B YR A Tefifaee-smenfiya Rien #) gm & R faRiv v § ywAfae wen d @1 T ur?
1. ERS2

2. EDUSAT

3. TechEdSat

4. ATS-6

Correct Answer :-

- EDUSAT

38) What is meant by intervarietal hybridisation? /
IR FFor F FAT I3 Fer {2
1. Crossing between different varieties of plants. /
gief & faffies 9eR & drg GoRdr (HifeT)
2. Crossing between different genera. /
el wofa & g F@aar (Hifden)

3. Crossing between genetically dissimilar plants. /
a9 & e et & dr wEar @R
4. Crossing between two different species of the same genus. /

T & 32T & & Feet Jolfadr & 9 Fadr (HifaeT)
Correct Answer :-

« Crossing between different varieties of plants. /

diet & AT yR & S doar (Hifd)

39) Assessment standards are required to provide effective science education for all. To assess teaching of science by science teachers in a

classroom, which of the following is NOT applicable? / W & ﬁTE gyt ﬁiﬂq QT&‘IT ') CZe ko ﬁ'ﬂ! 3fTHe DI Bt
STARGH T gl 81 Fe § Ay Rigre! grR1 fag= & fRieror o1 sriepa 4 & forg, Fufafaa d § 19 w1 Sugea
TE 32

1. Parents’ view of the teacher. / f18T6 & HATAT-TAAT &7 TiScahroT|

2. Performance report of the students in the subject. / v 7 ol fr gt Rare|

3. Students’ feedback on the teacher. / T8Teh 9T SEAT &1 giafhaAT|

4. Other school’s opinion of the science teacher. / 3= fdeaTerdl &I faa fAaTw & TR H |

Correct Answer :-



. Other school’s opinion of the science teacher. / 3= fagaTerdl &I faar fAaTw & TR # Y|

40) The factor that does not influence the formation of winds is: /

arg fAufor &Y gutfad 7 $39 91ar sR A
1. Presence of mountain ranges / gad ’%EFIT $r sufeafa
2. Presence of seas and oceans /FF{I’EYT IR AgRERT & 3ufEufa

3. Uneven heating of the atmosphere in different regions of the earth /t(I_%_Cﬁ & TafdesT 8131 7 ITATaRoT A7 AT arde

4. Rotation of the earth / q_%_Cﬁ & Hﬁﬂ

Correct Answer :-

« Presence of seas and oceans / QT{I,ET 3R #EgEERT $r sufEufa

41) When a force of 1000N is applied on a particular surface the pressure acting on that surface is found to be 10 Pa, then the area of the
surface over which the force is applied is /

o9 et fadiy wae W 1000 e BT e TR T € df 39 Tdg W v aTalT ST 10 Pa UTAT ST €, &Y 9o SAJUART g HT A% fba &
1.0.001 m?

2. 1000 m?

3.100 m?

4,10 m?

Correct Answer :-

« 100 m?

42) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s respectively. Which of the two objects have the same
speed? /

IR a¥g3ii P, Q, R TF S &t 7Ifal shT: 10 Wi/, 36 fFeft/ver, 18fFt/ et 3z 307t/ 31 51 &t awgait #) iy T 22
1.RandS /R T S

2.PandR / P U9 R

3.PandQ / P TF Q

4.QandS / Q U S

Correct Answer :-

« PandQ /P U Q

43) How many times the bob of the oscillating pendulum crosses the mean position in 20 oscillations?/

A Ugaw @ 9q fra! IR 20 el § AT R F R Fedt 32

44) A ball is dropped from a height of 100m. Find the time taken by it to reach the ground. (g = 10m/s2) /
TS 1ig 100 W F1 Farg | RS Wl 1 Ag &) Y 9% uga o fora=1 Twa @1 (g = 10m/s2)

. 25s

5v2s



3. 20s

4. 25s

Correct Answer :-

255

45) Amount of energy transferred from one trophic level to the next is /
TS NP TR A 3T Ui R WFaRd St ST A @it g
1.5%

2. 20%

3. 15%

4. 10%

Correct Answer :-

e 10%

46) The acid present in Rancid butter /
fapa i wee A Sufya spa g @

1. Butyric acid / Wﬁﬁ? 3TFel

2. Acetic acid / URAfeH 31Far

3. Lactic acid / oifea 31

4. Formic acid / ®TiHe% 3T

Correct Answer :-
« Butyric acid / GZI“E I 3FcT

47) In an electric motor, the energy transformation is from: /

o g e ), Gl ufvads S g 3

1. Magnetic energy into electrical energy / z_ﬁ?ﬁu Foll &7 ﬁa:{l;—l’ Foll 7
2. Mechanical energy into electrical energy/lTiﬁF:F Foll &7 ﬁaga Foll &
3. Electrical energy into magnetic energy / faggd &oll &1 gadd Soit &

4. Electrical energy into mechanical energy / faggd it &1 Tifie et o

Correct Answer :-

« Electrical energy into mechanical energy / faggd Iuit &1 difd ol A

48) Which one of the features mentioned below about decomposers is not applicable to decomposers? /
FuEeE A off §1a § 3R 3 gt F 9w wa g
1. They transfer energy to the next trophic level in the food chain. /
3 Greg H@e # 3Tel GifeEHdr F W Foll TAGIART Fd
2. They are also called as saprophytes or reducers /
37¢ ST IT TR 3 Fgl STem gl
3. Decomposers are also scavengers and they clean the earth. /
3qEes uATsw off gid € 3R T gl @ a6 w1 gl
4. They help in recycling nutrients. /
q I GeARTHUT A Feg A &
Correct Answer :-

« They transfer energy to the next trophic level in the food chain. /



q Wiy H@ell # 307 GfSehal TR W Fofl TAECRT H &

49) Which of the following is not a child-centred classroom? / frafafaa A -t da-sied DEIT qﬁ%”
1. Teachers promote collaboration in learning / fRr&Teh 31T & FEIAWRT FI Fmar ¢d gl

2. The teacher is a facilitator instead of an instructor / &I Teh TIALTH & ST TUeh FH-IIH %I

3. The teacher decides content, instruction method and assessments / T16Teh FTHA, fader At 3R el &1 [oTT w&ar

gl

4. The students have a choice to pick assignments and decide assessment criteria / ST & 9T AATSAHC Yoiol 3R H‘\ve-licha-l
HAAGS dF Hel & fdded gl

Correct Answer :-

« The teacher decides content, instruction method and assessments / IEIaED grera, der 73 3K 3meaa F1 [T FEar
gl

50) Which of the following wastes is not bio degradable? /
frafifea & @ S1-a1 ke Sa fore a1 99 saw i T8 82
1. Vegetable peel / Tfearal & feten

2. Milk sachets / g4 & e

3. Cow dung / Mg &1 MeR

4. News paper / 3X@aR

Correct Answer :-

« Milk sachets / Q¥ & LG

51) Which of the following learning approach is considered to be a derivative of the Ausubelian approach? / frafafaa AP

iferTe eIl sigaferam efdwivr 1 sgeas WY wiTaT 32

1. Experiential learning / 3fs]#dTcaHeh 37TRET

2. Collaborative learning approach / FgacAe 3fE TiSeahioT
3. Analogy strategy / TTET I0TeAITcT

4. Concept mapping / FOGHTed ATATITOT

Correct Answer :-

. Concept mapping / FAGHTed AATITOT

52) which of the following can help the students to learn science through kinesthetic movements? / frafafaa # | B B B

nfaad} fransi & Arenw | fagr WA & veg o) GFar 82
1. Written test / forf@d aremm

2. Debate / dTg-fadie

3. Drama / dlceh

4. Quiz / 9&ARRY

Correct Answer :-

« Drama / #Tceh

53) If an object is kept in between the principal focus and the centre of curvature of a concave mirror, then the nature of the image will
be: /

Tt el avg ) 71 Biew 3R Srade qUUT $ aebal & $g & @1 o1 8, @) ofF A upfy grehk:
1. Real, enlarged and inverted /amﬁm 3f@afia va 3ed



2. virtual, diminished and erect / 31T, P?jﬁ?f ug e
3. Real, diminished and inverted / a'l'{-_dﬁa?, Fli?ﬁﬂ' Tg 3¢
4. Real, diminished and erect/ aRafd®, YPpfod Td et

Correct Answer :-

« Real, enlarged and inverted / aTEdTdeh, AfRARIT U9 3¢

54) People of different age groups need different amount of sleep. Who among the following needs more sleep? /
faftr oy arf & @ Y SrewT-srerT A & g B Azl gt 81 Fufafea & | frd g A ae eiftre sRevd gelt @2
1. Child / srTar

2. Infant / f???j

3. Man/ q&Y

4. Woman / Afgelr

Correct Answer :-

o Infant/ fﬂ'?j

55) The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on that surface is: /
2.5 m2 $ TF Wag W HHRIG: 100 N ST 96 ST AT 31 Hag IR 9 arell a7 3:

1.400 N/m?

2.40 N/m?

3.4 N/m?

4. 250 N/m?

Correct Answer :-

56) A teacher is trying to nurture an aesthetic sense in his students, he should encourage them to: / T RaTF 39 ol
# dledary &1 AYor FIF A FRT FT @ R, 3W 3 NewRd FE AT B

1. Investigate ideas / JIRY I ST B
2. Development of models of inquiry / ST & 9fa#e (Fger) & fAwfad &l

3. Observe phenomenon keenly / Tl HI 3cgehdT q cHl
4. Frame questions /@ 99 oI & |

Correct Answer :-

. Observe phenomenon keenly / &CT &l 3cqehdr ¥ cdl

57) Which of the following would not promote active discussion? / f&=ifaf@d & ¥ sl wfrw T=T F Je@T a¢ om?
1. Selecting topics from upcoming tests. / 3TETHT IN&TOT & AWAT T TYT FHLAT|

2. Summarizing ideas with the help of learners at the end of a discussion. /T & 3id &/ ety fr Termar a fTant &
HRITRI &heT|

3. Acknowledging learners for responses. / Ufafshar & forw fRIanfdai a1 TeR H=|

4. Encouraging questions as well as responses to each other’s questions. / FaTell @l YicATed HAT Td AT &l UEF—W &
TRAT T AT ol

Correct Answer :-

. Selecting topics from upcoming tests. / JTITHT GAETON & fATIT FT TIA HAT



58) Which of the following statements is false with respect to scientific theories? / CEITED ﬁ{%ﬂ?ﬁ F o #§ Aeafaf@da
#A & Fl9 @1 FYT 99 2

1. A theory must be tested with rigour. / Teh TIGTd T Tedl & g1y uYerur fHar ST TRyl

2. Theories must follow observations. / FHGHTAT & Y&T0T &1 UTeled =TT ATRTI

3. Theories may be expressed as an equation. /ﬁ?{fﬁ?ﬁ' FI Teh THIRIOT o &I H TFd haT ST Thdl gl

4. Predictions of theories must be reproducible. / ﬁaﬁﬂr_cﬁ i wiasgaIorRT 319" &7 Wﬁ?ﬁ'q glsir =nfgul

Correct Answer :-

- Theories must follow observations. / TAGHTAT T Y&TUIN T UTelel AT AT(RTI

59) A scientific theory cannot be expected to: / T& dTfas fAquia & 3rdam @1 i o1 wFHdr -
1. Predict all outcomes / Tt IROTAT ST W I |

2. Resist falsification / 3T 0OT T faIer |

3. Receive questioning / T2=1T &T 9Tod |

4. Change with time / THT & TTY deol |

Correct Answer :-

« Predict all outcomes / T3 aROTHT &1 WTH I

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile. What substance is generally added to the soil to
neutralize this effect? /

P & varfas s & afa w@hr @ Bt sl @ ¥ oawr 4R auens @ o R 59 waE # R w1 F v
AT R gerd # Aed & R s @2

1. NaOH

2. Mg(OH),
3. N32CO3
4, CaO

Correct Answer :-

« CaO



